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FOHZAF S8 HHX 150,000 538,888 388,888
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O=znssn A2 2ZA BHX
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OHTE JdUMEdH 24 301,460
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SH: QTHA

Hil: S2HAWLEERFI(UK/RULEZSSNR)
©9 DREBIWLALY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O20158 = QMsdESMHII= &¢
500,000,000 * 13l 500,000
StusSA K& 145,110 143,220 1,890
201 LBH2d| 1,470 1,470 0
01 At 2t 2l 1,470 1,470 0
OsthgA ASHRE SAAZE ¢
70,0003 = 7H « 33l 1,470
307 glz2tol & 100,170 98,280 1,890
02 It HAHEE 100,170 98,280 1,890
OESAE Ots A& 2==2ME P24 X
2(Exs HH) 2103 = 2,650  180¢ 100,170
308 A EHHSOIA 43,470 43,470 0
08 WSII20HetE = 43,470 43,470 0
ORXY Ols SAE 2xAMWE 2EH X
210& = 1,150 » 180¢ 43,470
ANetdsM2s a3 MRNEA(S) 849,834 705,397 144,437
< 339,934
Al 509,900
308 MtXIEHSOIH 849,834 705,397 144,437
= 339,934
Al 509,900
08 WSEII20HetE = 849,834 705,397 144,437
OBASME HWIA N
849,834,000& * 14 849,834
< 339,934
Al 509,900
ZESEMZATR(Z) 155,135 145,977 9,158
< 62,054
Al 93,081
308 XX EHHSOIA 155,135 145,977 9,158
< 62,054
Al 93,081
08 WSEII20HetE = 155,135 145,977 9,158
O% - z8n LS4 X
155,135,000& * 14 155,135
< 62,054
Al 93,081
HseolZet A5 (2a22/H=) 12,295,164 7,456,284 4,838,880
J| 142,771
= 4,025,775
Al 8,126,618
HEAd &= 5,810,800 3,824,520 1,986,280
< 2,000,000
Al 3,810,800
SSHSAE 29 265,000 55,000 210,000
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@2 MSAE 25 (chel & 9l)
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401 AlEHIZL £ 0HY| 265,000 25,000 240,000
01 Al&H| 263,200 25,000 238,200
OZ2Z2XNEHUHAAE &EX
150,000,0002 = 99.28/100 148,920
OZEZ24HUAY XHS &X
80,000,000 = 99.10/100 79,280
O&ZAHel s70 &l 3,000,000& = 504 15,000
QstdEAHOIEEY B 20,000,000 * 14! 20,000
03 AlE 20H Y| 1,800 0 1,800
OZ2Z2XNEHUHAAEY &EX
150,000,000 = 0.72/100 1,080
OZEZ2HUAY XHS &X
80,000,000 = 0.90/100 720
SUHIHMSAE 24 45,800 69,520 N23,720
201 B9 5,800 29,520 N23,720
01 AP 22| H| 1,900 4,600 N2,700
OMs&Es JIZ2 2&(023) 400 * 1,000 400
OM=solZet & M=20Ug EZ22 ME
30,000 = 5& = 103 1,500
02 B232ZH| 3,900 24,920 A 21,020
OFRE sFNEREE=2 50,0008 = 23] 100
O&ERH HoE =HE 200,000& * 13| 200
OF2d dII=2 200,000& = 12& 2,400
OCIHAAANOEHR HMIRB
100,000& = 12& 1,200
401 Al HI L 204 HI 40,000 40,000 0]
01 A& H| 40,000 40,000 0
OsUM=EANE 217 &X
2,000,000& = 1090 2 20,000
OsU M==AY 2S)I7* B
200,000 * 10090 & 20,000
COIHEAEMNES(E) 4,000,000 3,700,000 300,000
== 2,000,000
Al 2,000,000
401 Al HI L £ 0HHI 4,000,000 3,700,000 300,000
& 2,000,000
Al 2,000,000
01 A& H| 3,991,900 3,690,010 301,890
OHMB3a BESOHMAE AL =
3,000,000,000& = 99.73/100 2,991,900
o= 2,000,000
Al 991,900
OHMIB3s HESOIHAE AlE JHE (20144 T
22g) 1,000,000,000& = 14! 1,000,000
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@2 MSAE 25 (chel & 9l)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
03 Al 20| 8,100 9,990 1,890
OHMB3e HEZUMAE AIE WE S
3,000,000,000& * 0.27/100 8,100
ALXMAEHAHSGEAE (2) 1,500,000 0 1,500,000
401 AlEHIZL £ 0HY| 1,500,000 0 1,500,000
01 Al&H| 1,494,600 0 1,494,600
OAZL=HE AR HE
1,500,000,000& * 99.64/100 1,494,600
03 AlE 201 5,400 0 5,400
OAZL=HE AR HE
1,500,000,000& * 0.36/100 5,400
s =4 6,484,364 3,631,764 2,852,600
J| 142,771
= 2,025,775
Al 4,315,818
AF=ANASIS2H 30,000 30,000 0
307 2Iz2t0| & 30,000 30,000 0
03 QIZI X HAES2HHIEX 30,000 0 30,000
OYZ=ANEE RI(BEXTE HAH)
30,000,000 *1A 30,000
AAHE g4 40,000 40,000 0
307 212t0| & 40,000 40,000 0]
02 QIZHBAAIRE E X 30,000 40,000 A 10,000
OAYELLMHSL AJNRE X (A .24 8
ab) 30,000,000& * 14 30,000
03 IZIHY B ESIHIEX 10,000 0 10,000
O2AY=AAY SY(EXS FH)
10,000,000 * 14] 10,000
ORI M=HE K& 43,000 28,600 14,400
301 et A= 10,000 7,600 2,400
09 HAIAHI BEAZ 10,000 7,600 2,400
OZd=&oedM=U3z &FILAH ¢l
80,000& * 80Y 6,400
ONd=&HMAM=UZ &FILA (bl
80,000& * 15Y 1,200
O&je==2dd<=sUtsz &8 X oyl
800,000& * 3= 2,400
307 QI2t0| & 20,000 7,000 13,000
02 AI2AtAMAIE E =X 10,000 0 10,000
OZ0HQ! BHERQIE WA 29
10,000,000 = 14! 10,000
04 CIZ2tSHALALS B X 10,000 7,000 3,000
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@4 Ms8d x4 (9 ® =)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OZ= % d=HM2 dMsda &It
10,000,000& * 14! 10,000
402 SI2F X0l & 13,000 14,000 A 1,000
01 QIZEXIE2AIE 2 X 13,000 14,000 A 1,000
OXOMHOISH HH (MO, AEHHA S) 2L
g K& 13,000,000 = {14! 13,000
AF=ANOMSHE XS 310,000 310,000 0
307 2iz2to| & 310,000 310,000 0
04 SIZ2ISHAAISH E & 310,000 310,000 0
OHM36a AFAUM=UZ H=AH|
100,000,000& = 13| 100,000
OM3eal dF=A2HEUHE SS=E N (BEXs
X oH) 10,000,000 = 194 190,000
OHM36a =A2NH=UHs EDsSsw XN
1,000,000& * 2000 1 20,000
AETUXNESUHIEIIXHA 390,000 375,000 15,000
307 212t0| & 390,000 375,000 15,000
04 SIZ2SHAAISHE E & 390,000 375,000 15,000
OHMb53s B=T2 M= =HorEH|
260,000,000& = 13 260,000
OHMB3s =2 HsUE LEA A
30,000,000& * 14! 30,000
OHMb53a =M= &L 228H X
& 100,000,000& * 14l 100,000
ANZEIAE2SHIIEESAHANNH(Z) 1,153,000 1,170,000 A 17,000
= 153,000
Al 1,000,000
307 212t0| ™ 1,153,000 1,170,000 A 17,000
=} 153,000
Al 1,000,000
02 IZHBAAIE E X 1,153,000 1,170,000 A 17,000
OMUE (S, 24 ,24) 54 X8
1,153,000,000& = 14! 1,153,000
o= 153,000
Al 1,000,000
ANZHEAMHKRESALH(2) 48,576 48,576 0
J| 24,288
Al 24,288
307 QI2t0| & 48 576 48 576 0
J| 24,288
Al 24,288
02 QI2tAMAIE E X 48,576 48,576 0
OANZHEN MESHSF XN HiX
24,288,000& * 2H 48 576
J| 24,288
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e M=sgd x4 (2 &HH)
- _ _ RE]
S C(BH) - HEAY - BAS %Ei HR=2
Al 24,288
ANZMEYSK SR X (=) 145,728 145,728 0
J| 72,864
Al 72,864
307 2iz2to| & 145,728 145,728 0
J| 72,864
Al 72,864
02 212+ At 145,728 145,728 0
OANZMENF K X BHX
24,288,000 *~ 69H 145,728
J| 72,864
Al 72,864
ANZMEHSE 2 29,390 30,000 A610
= 5,390
Al 24,000
307 2iz2to| & 29,390 30,000 A610
= 5,390
Al 24,000
03 2I2HCHA| 29,390 0 29,390
OMEH H XN (EXE HH)
29,390,000 * 14! 29,390
& 5,390
Al 24,000
SHEsna2 28,836 36,000 NT,164
= 8,640
Al 20,196
307 2Iz2t0| & 28,836 36,000 NT,164
o= 8,640
Al 20,196
04 DI2H8H A} 28,836 36,000 NT,164
OMEH CHUA B) 29
28,836,000 * 14! 28,836
& 8,640
Al 20,196
HSHFHAIE A 65,170 65,170 0
J| 45,619
= 5,865
Al 13,686
307 2Iz2t0| & 65,170 65,170 0
Jl 45,619
= 5,865
Al 13,686
02 Q12+ At 65,170 65,170 0
OMdAS = 20 X
65,170,000 * 14! 65,170
J| 45,619
& 5,865
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X ZH -
L= B
el

o
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
Al 13,686
ZABAOIZIEWSII KK (L) 240,000 240,000 0
& 30,000
Al 210,000
307 2iz2to| & 240,000 240,000 0
& 30,000
Al 210,000
04 QI2H8H A} 240,000 240,000 0
Ogx+=A S 3 240,000,000& = 14! 240,000
o= 30,000
Al 210,000
AIEFEH= al 24,000 24,000 0
307 QI2t0| & 24,000 24,000 0
04 QI2H8H A} 24,000 24,000 0
OA&E DI =03l
3,000,000 * 8&= 24,000
stNH=Es4X 153,000 113,000 40,000
307 giz2to| A 153,000 113,000 40,000
02 AI2tAAMAIE E =X 140,000 0 140,000
Ostuid=sotel 4 50,000,000& * 14! 50,000
OM=EEIIEE 84 4 FEESS 4 90,000
—SJ|&s=2 2,500,000& * 10&= 25,000
—FAEF 2,500,000 = 10&=2 25,000
— st SH(|4 5)
40,000,000& = 13| 40,000
04 QI2H8H A} 13,000 113,000 A 100,000
osxsd4 =Msl FHorEH
1,000,000& * 103l 10,000
O M523l M=0a &I XA
3,000,000& = 13| 3,000
MEH =KX E X 2,560 5,120 N 2,560
301 LBHE Ab 2,560 5,120 N 2,560
09 & Al 2! H| 2,560 5,120 AN 2,560
OMEH X A4 =D}
80,000& * 8Y * 1Y x 43| 2,560
23 YdeA E=SEASsHS XS 16,000 15,000 1,000
301 LBte Ab 16,000 15,000 1,000
09 & Al &l H| 16,000 15,000 1,000
OoO&=2M CHESIHD S5 &8
800,000& * 20&= 16,000
INUAPIES I 0a X & 16,000 20,000 A4 000
301 LBty At 16,000 20,000 A4 ,000




M QA Dt
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 &AL HI B2 &S 16,000 20,000 A 4,000
OZXADI &5=28 MEM=sUz 8d
800,000& * 208 = 16,000
NESELUHE X R 15,000 15,000 0
307 g2+l & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OAl NE& dZHal 5,000,000& = 13l 5,000
O ME& dglial 8,000,000& = 13l 8,000
Od= NEZ &82Us 2,000,000& = 13l 2,000
HYLECHMEXNSHS RXIXA 80,000 89,000 29,000
307 glz2t0l & 80,000 89,000 A 9,000
04 QIZFHALAIH B = 80,000 89,000 A9,000
Of= & Tt dedsia =X
20,000,000& * 43| 80,000
NHEANZHEALSHENSHE XA 30,000 15,000 15,000
307 glz2tol & 30,000 15,000 15,000
04 QIZFHALAIH E = 30,000 15,000 15,000
OXNMHEAIZE FHHUEHSUHS SE(SEA,
2d3) 15,000,000 * 23] 30,000
HEHSUHASEXH 115,000 101,000 14,000
307 gl2tol & 115,000 101,000 14,000
04 DIZHHALALSE E X 115,000 101,000 14,000
OZE02d MU SH(EXE 90%)
20,000,000 * 13l 20,000
OHM253 ZEEIMENSUHS SEXH(Ex=E D0
%) 70,000,000& = 13l 70,000
02015 =M EH s -2 A(FEAYE) S2U
3 = 25,000,000 * 13l 25,000
AMIAZZ I T2 XI& 13,000 20,000 A7,000
307 21201 A 13,000 20,000 A7,000
04 DIZHHALALSE E X 13,000 20,000 A7,000
OAlRl A2 2IIHHal(Bx8 90%)
13,000,000& * 13/ 13,000
Z=elds2UNEA 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIE B & 12,000 12,000 0
OZ=el Ndus SRUa(2EXS 90%)
10,000,000& = 13l 10,000
O&d=cl Tz =H 1,000,000& * 28 2,000
ANFISSEUENSUHS XA 24,000 21,000 3,000
307 21201 A 24,000 21,000 3,000




SH: oA
H: oD E(2YBZ/AR)
@4 Ms8d x4 (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
04 CIZ2tSHALALS B X 24,000 21,000 3,000
OANEI E5=2E MESH=UHS
3,000,0008 * 8&= 24,000
AF=ZICMUIM =SS X 78,000 45,000 33,000
307 2iz2to| A 78,000 45,000 33,000
04 CIZ2tSHALALS B X 78,000 45,000 33,000
OHMBal FF=ED|QHH MEM=E S5 xH
=303 24,000,000& * 13 24,000
OHMB83 HFZSINCUMH B=sSUHOE=M
3| 12,000,000& * 13| 12,000
OHM33 = EJNUMEA E=2SS2MNEUE
15,000,000& * 13| 15,000
OHMI38ae FFZ2D|oai =259 & ol=Hl
LIAHSI(EXZE 80%) 27,000,000& * 14 27,000
MEHSAUEHHS XA 39,000 85,060 AN 46,060
307 2iz2to| & 39,000 85,060 N 46,060
04 SIZ2ISHAAISH E & 39,000 85,060 N 46,060
02015 A=A THEHEIIIHE (EXE 90%)
4,000,000& = 13l 4,000
OHN33| BHSE[H2t OdtZET
35,000,000& * 13 35,000
HM=ZAMOISUHE XA 70,000 73,000 A 3,000
307 2Iz2t0| A 70,000 73,000 A 3,000
04 SIZ2ISHAAISH E X 70,000 73,000 A 3,000
OHM173 20 HFTIEZ2LO0IAIEE 8=2A0I2
tHal 70,000,000& = 13| 70,000
H20IOISH=EAUS K& 30,000 78,000 A 48,000
307 QI2t0| ™ 30,000 78,000 A 48,000
04 CIZ2tSHALALS B X 30,000 78,000 A 48,000
02015 2EA20IHE d2H
30,000,000& * 13| 30,000
St=AAE RS XS 50,000 0 50,000
307 QI2t0| & 50,000 0 50,000
04 CIZ2tSHALALS B X 50,000 0 50,000
02015 St=24ASERHF 50,000,000& * 13 50,000
M53z| B HSUHAME(E) 2,613,504 0 2,613,504
= 1,700,000
Al 913,504
101 e1214| 11,384 0 11,384
04 JI12ZtHIZ22NEES 11,384 0 11,384
OEoH=0s g2Ex 8,080
- Jl22 44 6403 « 19 = 150L 6,696
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HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— &5 44,6403 * 1% = 25¢ 1,116
— RS sIt=E 44,6402 *« 1H * 6L 268
OMHZ A ZEHIEX 44 6402 * 7H * 6L 1,875
OlsIzt & 5248 Z2J1¥ 84 27
44 6402 * 4H * 8L 1,429
201 Let24d] 1,949,720 0 1,949,720
< 1,357,000
Al 592,720
01 At 22l 384,230 0 384,230
OZHSUE =Y ARA 29| 8,040
— SAEX 7L (A3)
30,000& = 10BOX * 23l 600
— SAEX FL(AL)
15,000& = 30BOX * 43 1,800
—SgJ 4Xt 220,000& = 12# 2,640
— =8I EU(EH) 200,000& * 53 * 1CH 1,000
— 28I EU(Zat) 200,000& * 53 * 104 1,000
—MNRESZ 7Y 5,000& = 53 « 12& 300
— PC==2ltl 100,000& = 7CH = 13l 700
Ol 20N & 2AMF UM
20,000 * 2005 = 43| 16,000
= 8,000
Al 8,000
O8I XM= =HE S204dl
6,000& = 5% = 122 x 103 3,600
OzE ol & &&T HMH 33,740
— e JIS4 dee M
1,000,000& * 200 A& 2,000
—ANUSSE SEFUE ¥ BHE (S
2) 5,000,000& * 200 A& 10,000
< 5,000
Al 5,000
~NUSSEE 2 NEA UL AU
0,000& » 290H & 1,740
—ANBI23E Al X ¥ BIlotuy et
5,000,000& * 404 A& 20,000
< 10,000
Al 10,000
o2& thaldl M= 9,250
—Jl=8 2WI HNAH 50,0003 » 258 1,250
—24EES B30, taol, &4&EI M
1,000,000& * 3& 3,000
— = ZJE ALE B3I, ANZI ME
20,0003 * 258 = S50 + 28 5,000
oxgeg g2 MA(AY, AEIH)
1,500& = 3,00000  2& 9,000
< 5,000
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@4 Ms8d x4
SA - ZE-B(EA) - NRAY - B S il &t o il
Al 4,000
O%+J HE(&432s, 22, DMSA)
5,000& = 1,000H 5,000
< 2,500
Al 2,500
OAzZE & EE2E =2 M 63,800
— AT UIlA #a0 A
60,0002 * 2470 A 1,440
—F FIIE AR B A
60,0003 * 23F * 3 4 4,140
< 2,000
Al 2,140
—Z28 T o HA M
60,0003 = 342 * 38 6,120
< 3,000
Al 3,120
—HACT B HAY M
100,000& * 400H A& 4,000
< 2,000
Al 2,000
— s ZWIE ME(BEA)
5,000,000& * 28 » 20 20,000
< 10,000
Al 10,000
—EAN AHNEBE =2 WA
150,000& * 300H & 4,500
< 2,000
Al 2,500
— ol BEEE MY M
60,000& = 1004 6,000
< 3,000
Al 3,000
~SD NES B2 #29% ME
400,000& * 28 » 7oA 5,600
< 2,000
Al 3,600
—eds 282 A
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O=AERX 7¢ 15,000 » 204 « 123 3,600
OE20AH| 6,000& = 64 » 209 » 12& 8,640
Ot 2 (AL BHUSISHH)
100,000& = 128 * 2004 2,400
OARE TAPLH(ATHSEL D, SIS HEH)
50,0003 = 128 » 20 1,200
OARE sdH(A LD, BHSSHEH) 8,150
— SAIl =2l 500,000& = 2CH 1,000
— ZEH =2 100,000& * 3CH * 50/100 150
—SAI EU 200,000 = 53] = 204 2,000
—ZeglH EU(EW) 200,000& * 53 * 3CH 3,000
— IZBE EU(2ct) 200,000& * 53 = 104 1,000
—PC =cl 100,000& = 20CH = 20/100 400
— JIEt =2lHl 50,000& = 12& 600
OJIE AFR2t2lH] 5,000& * 2098 » 12& 1,200
2 - =AY 14,370
— 24 60,000& * 18 * 114& 6,840
— =3 30,0003 = 18 = 251 7,530
202 044l 80,000 72,000 8,000
01 = LH o4 1l 80,000 72,000 8,000
O2 Lo dl 20,000 » 209 = 12&€ » 12 57,600
O&2 o dl 80,000& * 20 * 14 22,400
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORM2IYRFLH 350,000& = 12& 4,200
204 MR AH| 1,200 1,200 0
01 Mg 1,200 1,200 0
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